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It is evident that he pays for the principal — 213w YD 17 NADR
as it was worth when it was stolen

OVERVIEW

X117 °27 attempted to prove 17 correct from a Xn>72. The Xn>>72 stated that the
payment of the wnIn can be substituted by a payment of the 295 (if both payments
are equal). The only way both payments can be equal (according to 1"9) is if
RTIT 710271 "7 R RpP°vn and we follow the ruling of 27, that 213w v 172 and 993 is
172 77Ya nYw2. Our NM0IN challenges this proof and maintains that the Xn>92 can
be explained differently.

nooIN asks:
=77 NI qsv:‘n NI NMHY NIPIVNT 1I)2 'NT NY INNAN NN

It is astounding! Why did not the X713 reject this proof by saying that the Xn>>72
is discussing a case where for instance initially it was worth a 17 and

subsequently (772 77Y7 YW2) it was worth four oo -
= 295 NYT 20V YO NI X909

And therefore the ®22 is a 17 as it was worth when it was stolen; not as 29 rules

that 793 is 172 77Y7 nYw> (and it should be four) -
- 11 BhwN 79NV IN N9ANT HINTD 1]"1:1 NTNRYN HYYI NHT XWUNIN

And the “fifth’ is also a 17 as it was worth 772 772V nYyw2, as 1727 ruled that if the

thief broke the barrel of wine or drank the wine he pays four o°17; the amount it was
worth when it was destroyed.

mBoDIN answers:
=995 991 999139 NI4T 91210 YN

And one can answer; that you cannot maintain this at all -
= 23)VW Y 515 /N 77 D9 1P1a NTRYN NYYI XN )IPT 250N NXI*INT

For from where do you derive that 399 pays 1972 772p7 nyw> and '™ '7 Y22
should be 233w 993; there is no basis for this distinction -

! Since 172 77V DYWwA it is worth four 0°n17, the WnIn is a 1.

? The commentaries discuss how our case is compared to 7N W X12n, since (seemingly) in our case there is no
7N IR X120, One possible explanation may be that when he swore that he does not have the item, it was worth '7.
The reason he is 21 a wn»n is for the [false] nyaw, which was made when the item was worth 7. The nyaw
(denying possession) is compared to 7°nW X X72N; just as by 7»nw X X720 he pays for the value at that time,
similarly by wmn he pays for the value that it was at the time of the 7¥1aw. [We would also have to assume that he
pays "7 for the 17 as well; otherwise Mo01n (first) answer will not be understood.] See 7"nX. See ‘Thinking it over’.
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— DYD9 DIV 1Y PR A1) PIDON NI XY BN 1999 771 71 593 192 HYNY )PNT
For we cannot differentiate between 'm '7 2> and 179 unless there is a 2% to

that effect; and in this distinction that N1901n is suggesting we have no such ?10» -
— YT NPT OIVN 19N PINNT ) 2

And 29, as well, who differentiates between '™ '7 993 and 11 that is only because

he interprets a P09 in this manner. Otherwise we cannot distinguish between 121 953 and
P

mooin offers an additional answer:
— %9V N7 Y31 INDAT TIVY

And furthermore since without this answer he nevertheless properly rejects the

proof for 27 -
YNy PPRY 9MIN Y2011 NIV PIY ININIY ‘NN 995 99 M

So it is preferable for X217 to establish the Xn»72 as it is truthfully and in the
same manner that the assister (X1°11 °27) claimed it cannot be established.

SUMMARY

We cannot differentiate between 17 and '™ '7 992 (concerning 213 °¥> or Nyw>
172 771Yn) unless there is a P109 that indicates so (as 27 taught). Even when a proof
is refuted, the Xn»>PIR should not be &n2%7> K7W if at all possible. The refutation is
more complete if the new XnnPIX is precisely the one that was initially rejected in
order to make the proof.

THINKING IT OVER

mooIn asks that perhaps the &n>72 disagrees with 27 and we are discussing a case
where initially it was worth a 17 and 1°72 77297 nywa it was worth four. The 993 he
pays 21w 1¥2 and the wmm is 172 77ava nvws for it is like 7w W &12n.° mooin
answers that we cannot differentiate between 292 (that it is 213w 7°v2) and 17p (that it

3 See [7&A] ®"wn that this is only according to the *"3 but not like the 0" in 2°X%v 17"7 '010 on R,10.

* If X271 would have established the xn™92 as nooI1n suggested in the question, it would go against the ruling of 2.
The 713771 is like 20. Therefore X171 merely rejected the proof that the Xn>>12 must follow the view of 27, however the
ruling of the Xn"2 the way X271 established it (while it does not prove the ruling of 27, it) does not contradict the
view of 21

> X1 *27 who attempted to prove 21 correct from this X012 claimed that the X012 cannot be discussing a case
where '7 R™W 710271 '7 XMW RIP°Yn (rather it must be discussing a case where X1 R™W 710271 7 X RIpOYn; proving 27
correct), therefore 821 prefers to say that the Xn>12 can indeed be discussing a case where XMW 710271 '7 X1 RpP°yn
"7; not a X111 " claimed.

® See footnote # 2.
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1S 172 777Y7 NYWwD). Seemingly however we are not differentiating between the two;
he pays the 213w 1°¥2 993 for the 993 211 is for 72°13; however he pays "7 for the 17p,
since N1©0IN considers our case like 7°Nw WX X720; where he pays (213w 7°¥2) for the
current 7913 (or current »177)” when it was worth 7.8

" There is no 211 of (‘M '7) 993 by 79°1 (or P*1n)
¥ See n"m1 and -1 MR 1" WL
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